

## Opérations avec deux fractions mixtes (C)

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

$$1. \quad 5\frac{2}{3} + 2\frac{3}{12} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$2. \quad 2\frac{15}{19} \div 5\frac{7}{9} = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---}$$

$$3. \quad 5\frac{8}{9} - 4\frac{2}{3} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$4. \quad 2\frac{1}{3} \div 5\frac{2}{4} = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$5. \quad 5\frac{4}{9} - 3\frac{2}{3} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$6. \quad 5\frac{4}{5} - 2\frac{7}{20} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$7. \quad 5\frac{3}{4} + 1\frac{4}{12} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$8. \quad 5\frac{5}{7} \times 1\frac{4}{9} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$9. \quad 1\frac{3}{7} \times 5\frac{5}{7} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$10. \quad 5\frac{3}{6} \div 5\frac{3}{19} = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---} = \text{---}$$

## Opérations avec deux fractions mixtes (C) Réponses

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

$$1. \quad 5\frac{2}{3} + 2\frac{3}{12} = \frac{17}{3} + \frac{27}{12} = \frac{68}{12} + \frac{27}{12} = \frac{95}{12} = 7\frac{11}{12}$$

$$2. \quad 2\frac{15}{19} \div 5\frac{7}{9} = \frac{53}{19} \div \frac{52}{9} = \frac{53}{19} \times \frac{9}{52} = \frac{477}{988}$$

$$3. \quad 5\frac{8}{9} - 4\frac{2}{3} = \frac{53}{9} - \frac{14}{3} = \frac{53}{9} - \frac{42}{9} = \frac{11}{9} = 1\frac{2}{9}$$

$$4. \quad 2\frac{1}{3} \div 5\frac{2}{4} = \frac{7}{3} \div \frac{22}{4} = \frac{7}{3} \times \frac{4}{22} = \frac{28}{66} = \frac{14}{33}$$

$$5. \quad 5\frac{4}{9} - 3\frac{2}{3} = \frac{49}{9} - \frac{11}{3} = \frac{49}{9} - \frac{33}{9} = \frac{16}{9} = 1\frac{7}{9}$$

$$6. \quad 5\frac{4}{5} - 2\frac{7}{20} = \frac{29}{5} - \frac{47}{20} = \frac{116}{20} - \frac{47}{20} = \frac{69}{20} = 3\frac{9}{20}$$

$$7. \quad 5\frac{3}{4} + 1\frac{4}{12} = \frac{23}{4} + \frac{16}{12} = \frac{69}{12} + \frac{16}{12} = \frac{85}{12} = 7\frac{1}{12}$$

$$8. \quad 5\frac{5}{7} \times 1\frac{4}{9} = \frac{40}{7} \times \frac{13}{9} = \frac{520}{63} = 8\frac{16}{63}$$

$$9. \quad 1\frac{3}{7} \times 5\frac{5}{7} = \frac{10}{7} \times \frac{40}{7} = \frac{400}{49} = 8\frac{8}{49}$$

$$10. \quad 5\frac{3}{6} \div 5\frac{3}{19} = \frac{33}{6} \div \frac{98}{19} = \frac{33}{6} \times \frac{19}{98} = \frac{627}{588} = \frac{209}{196} = 1\frac{13}{196}$$